#3412 B 168 CKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2644 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 24,637
F= 1,070 0 1,070 10 756
£E 1,452 0 1,452 10 864 324
FIEIT 180 0 180 15 648
EE 4,630 1,460 3,170 10 810 518 918 432
R 17,280 9,840 7,440 12 156 432 756 432
130340 [;£ICALA ¥ 20,660
FE 8,000 0 8,000 10 1,404 486
£E 150 0 150 10 1,782
RI& 5,500 720 4,780 10 1, 404 156 1,188 324
REAR 7,010 0 7,010 10 1,058 594
130400 [Z (S5 3 6,444
dtiEE 2,240 730 1,510 10 1,944 2,376 1,058
= 3,950 300 3,650 10 1,512 2,808 1,566
fE 110 0 110 10 1,004
130600 [NACA a3 2,443
i Ll 160 0 160 5 2,592 972
mE 2,275 60 2,215 5 4,536 3. 888 4,968 648
131100 [ 3¢ % 33,287
g3 21,305 6,515 14,790 15 864 378 648 270
50 1,800 1,020 780 15 1,080 756 1,080 756
EE 7,942 5,793 2,149 15 972 648 540
FFL 2,240 360 1,880 12 540 540
131700 [Fr Y 3 42,676
R 4,500 2,080 2,420 15 929 1,037 994
R 20,170 860 19,310 10 540 324 864 108
£E 11,406 2,028 9,378 12 680 432 983 216
131800 | [F5NAE 3 3,311
£E 498 326 172 02 108 54 162 72
mE 1,800 4 1,796 4 Z. 808 3,240 1,404
& 855 0 855| 0.18 81 76
131910 [FHE a3 4,736
N 70 0 70 05 702 302
EE 40 3 38 05 302 302 270
il Ll 530 0 530 1 864 216




#3412 B 168 CKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2644 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
0 2,673 25 2,648 5 Z,700 1,890 540
iR 1,385 105 1,280 5 2,160 3,780 1,080
131950 |4 ¥ 8,925
EE 702 51 651 3 1,944 864 1,836 702
SE 2,925 912 2,013 3 1. 404 1,080 1,404 756
thE 30 0 30 3 864
133400 |LAR ¥ 8,915
E351 1,315 430 885 10 1,728 864 2,376 1,080
£E 6,400 4,670 1,730 10 Z, 268 605 2,484 1,134
®me 1,200 650 550 10 2,376 1,512 2,592 1,512
134100 | A/ ¥ 17,479
EE 64 64 0 10 1,296
EE 3,300 840 2,460 5 1,512 1,404 1,836 1,026
=l 440 0 440 5 1,404 648
IR 900 160 740 5 1,512 1,242 1,836 864
=t 1,545 1,240 305 5 1,836 1,296 1,404 918
=g 10,730 5,250 5,480 5 1,728 1,112 1,890 1,026
134200 |E R 3 12,300
dtiEE 320 0 320 10 1,296 756
A¥ 1,520 390 1,130 10 1. 728 1,944 1,782
134300 | A F % 4329
®me 794 260 534 2 1,404 864 1,404 648
=40 2,877 670 2207 0.3 124 119 124 108
=i 538 62 476 03 184 173 146
REAR 120 120 0 4 1,415
134400 [r<k a3 8,222
£E 1,260 0 1,260 1 270 248
BEAR 6,892 432 6,460 [] 1,728 108 2,160 540
134500 [E—< > % 6,273
=il 630 90 540 0.15 59 54
=I5 5,573 847 4726 0.13 16 43 97 32
135100 [LNAVIF A 3 210
=40 100 20 80 2 Z. 160 2,700 1,404
BRE 90 0 90 2 2,592 1,728
135200 | 3= % 100
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#3412 B 168 CKER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2644 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hiike | SEM) | $EE) | ®REME) | S@EE) | $EED | ZiEE)

Faxl 100 12 88 /] Z, 1700 Z. 160 3,024 1,296
136100 [MAL & 3 36,685

FIE 1,275 0 1,275 5 1,350 1,026

mE 10,240 1,655 8,585 5 2,592 1,296 2,484 756

= 20 20 0 05 162

PN 4,750 0 4,750 5 2,160 1,188
136200 | 5% % 1,240

Ei5g 1,240 0 1,240 10 - - - 2,117 2,074
136210 | A—9 1> % 11,420

dtiEE 11,420 450 10,970 10 3. 240 1. 620 3,348 1,134
136300 B 3 ¥ 2,100

iR 2,050 200 1,850 10 3. 240 3,564 1512
136600 |f=F1a= % 1,921

dtiEE 710 0 710 10 3,456 1,512

EE 1,211 1,210 1 10 Z, 700 1,728
138100 [ LU =1F 3 3,210

£E 295 30 265 5 3,240

) 2,303 71 2232 0.2 259 248 302 119
138500 |LHLE g 2,839

K% 2,793 540 2253 0.2 81 16 84 70
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#3412 B 168 CKER)

R RENFEHIS (A15) 2B B #H

= ENSEHe%iE: 678
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240400 [ R4 BN A MDA ¥ 6,165
E| 875 875 0 5 1, 620 1. 404
IR 5,000 0 5,000 10 864 648
240700 | E @R M A A 3 37,325
0 10,548 7,673 2,865 10 3,240 1,620 3,240 1,620
BHE 24,872 12,074 12,789 10 3. 780 Z 160 4104 2,700
REAR 1,905 0 1,905 9 648
241300 [{FF 3 1,200
&5 1,200 0 1,200 10 - - - 3,078 2,646
241470 |ZEADA a3 75
=5 75 75 ol 0.25 194 162
242830 | SLYA T @ 4,400
£ 4,400 2,360 2,040 10 5. 940 Z. 160 6,480 3,024
243610 |[EAME a3 4570
=B 3,070 2,820 250 10 4, 860 324 4536 3,780
=i 1,500 150 1,350 5 2,700 2,268 3,240 2,160
246000 (V6T % 10,486
EE 23 23 of 025 1,015 734
F 777 325 4521 03 972 594 972 810
= 1,794 756 1039 025 702 648 648 540
& 3,253 1,348 1,905 025 864 486 864 378
3 3918 1,253 2,665 0.25 702 432 648 432
= % 721 632 89| 027 756 486 518 486
247100 |[7—JLR A a3 417
E4 il 247 43 204 8.5 16, 200 12, 960 15,120 6,480
=il 170 153 17| 85 5,076 2,376 5,400
257100 |IZL#i % 3,127
= 814 771 43l 07 1,944 1,404 1,944
E5 2,313 2,073 240 0.3 102




SF34E12 A 16H OKREER)

F A R RS T S (AE5) BHE H

R EIbng e = 12.1 %
(S I E B B )
A . EN7EH (kg o H05E RIS
2 4 — — filik HLAL - — — — —
AH H05E RIS FEM AR ()| ZefiE(M) PEH EAE(ED) | FED | ZE)

101 |RSK-0 479 175 304 Kg |& 1,944 486 |71 2,160 142
102 |[ZHEIZW 2,307 2,307 Kg B+ 2 2,927 324
111 | ED 381 58 323 Kg [ 486 432[ % - &)1 1,512 165
113 | RROB®H 21 8 13 Kg [f&&E 1,944 756 | Sz )i 2,160 1,944
114 |5 -H 156 156 Kg HEE[E] 2,592 1,080
115 [z 29 13 16 Kg |&fE 1,404 1,296 [ f= 1,944 1,728
117 [i3s 5 5 Kg Lo 3,240

121 [7bixE 384 100 284 Kg [f&&E 1,620 378| f i 1,620 540
134 [7=Z 599 356 243 Kg [E3k- & 2,000 1,080|F 1] 2,484 1,080
137 |[mHES< 610 339 271 Kg |&fE 3,564 3,024 & H 4,104 1,188
138  |IR7eED 75 75 Kg frJE 2,808 2,160
140 |DIT 6 6 Kg B[Sz 48,600 27,000
147 |HEz W 172 12 160 Kg [ERE 5,724 5,616 fojiE 8,638 4,000
158 [N AED 461 1 460 Kg |5 1,080 T 1,512 1,350
201 |Vl 480 480 Kg =y - A v 1,531 200
203 |/hHL 75 75 Kg (e 297 135
205 [AHT 140 140 Kg = 432 367
206 [=iX 920 8 912 Kg [fmjlE 756 378w 960 309
207 |SAE 12 12 Kg Aty 1,080 810
208 [0k 119 119 Kg kL 1,404 475
210 [iFA VD 80 80 Kg [|EIR 5,400 1,620

AVIRES BN 915 915 Kg EJ 2,419 1,134
222 [0 312 312 Kg =R 288 144
251 [KAELA 269 31 238 Kg |&F 3,240 EWF 4,752 3,078
252 |VWAEESA 83 83 Kg  |&h] 3,402

254 |[&bIEESAH 456 456 Kg T3 2,484 1,080
303 |[NAZIEW 357 7 350 Kg [EIF 509 EW 300

305 |FERnoB 63 26 37 Kg |&fE 1,728 1,458 k=i 5,400 1,620
315 |65k 25 25 Kg [RE 1,620 1,512

319 [=b5 1,113 336 777 Kg [|FoEkiL 1,296 351 | [l « fe e 2,592 309
332 | EA BPE 335 335 Kg E|RES 1,566 1,242
351 [AEH 30 30 Kg frJE 9,180 3,996
354 [1xFESD 28 28 Kg Hh[E 1,134 918
355 [HVY 145 5 140 Kg [AEA 972 REA - 20 1,188 500
356 LU 85 85 Kg FSEL 1,296 324
357 |RHE 45 45 Kg HEE[E] 1,728 990
358 [KH 25 25 Kg R 2,160 1,620
362 [ 311 2 309 Ke [&E 1,620 Lo 3,240 540
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PO T FR YL ISR T (AN Y) B H
SF34E12 A 160 OKWEH)

Bk REREE: 33 b (i 2B S 2 1)
= B R ) ke R M|
S0 n4 A s Fa B FEHE e fECFD [ (P | Z2fE (M) - JE 1 rfE () EME(I;?))S Z2fE(M)
504 |[ARIRLAZ VD 27 27 Ke T 850 780
512 | oA 50 00] Ke =5 1212 810
523 |BUEM AT 670 670] Ke =5 1,350 1,080
524 [mieEz O 191 191]  Kg T= 950 670
558  |nf 527 527) Kg EF 2,916 550
560 |7AuRT-— 366 366| Kg T 9.612 3,400
566 [N 506 506]  Kg T s 486
581 [Ty 1,000 1,000 Kg




SF34E12 A 16H OKREER)

F A R RS T S (AE5) BHE H

T EIbng e = 6.2 %
(S I E B B )

= ek Hh5E H%
:Stﬁ* 5 izl %l (kg) _ e B \ _ 7 _ j TS| _

AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 [BHYDA 4,451 3,921 530 Kg | 1,238 432|575 756 216
705 [7=3<D 215 215 Kg = 1,512
710 |95 HIF 59 59 Kg Koy 702 583
713 |LLbALT 10 10 Kg JeviEE 10,350
755 |BA®HL 72 72 Kg HEE[E] 679 626
761 [BodAEE 72 6 66 Kg |&fE 1,466 1,392 fe o « Fisfk (L 1,548 750
763 |[EINIC 55 55 Kg |&fE 6,988 5,760
801 [HEfALEIF 386 386 Kg g5 - ALEE 2,592 864
802 |HE1F 100 100 Kg JbifEE 972
805 [HXIT 432 432 Kg BIRES 756 367
807 [Hikko 1 32 32 Kg EIRES 6,372 4,320
810 [B K+ 300 300 Kg BIRES 1,782 178




